COMP 790-063 Midterm 1
Tue, Oct 27, 2009, 11:00-12:15
Instructions

1. Please spread out and try and sit in alternate seats.

2. This is a closed book exam. 
3. Write on the exam itself. 
4. Write on the opposite side of a question page if there is not enough space to solve a problem.
5. There are:

· 5 numbered pages including this one; there are no blank numbered pages
· 3 questions

· 75 possible points.  Point values appear in brackets next to each question

6. You have 75 minutes.
7. Explain all answers.
8. If you need to make any assumptions to clarify a problem, write your assumptions down. Only reasonable assumptions get full credit.

Pledge: I have neither given nor received unauthorized aid on this exam.


(signed)____________________________________
Please do not write below

1. _____/15

2. _____/35

3. _____/25


Total: _____/ 75
1. [15 pts] Shared Window Systems
(a) [6 pts] Give a “being there” and “beyond being there” feature of a shared window system.
(b) [2 pts] Identify a Computer Science discipline (other than collaborative systems) relevant to the implementation of a shared window system.
(c) [3pts] Give a driving problem justifying the development of a shared window system.
(d)  [4 pts] Identify and define a collaboration function supported by a shared window system.

2. [35 pts] Implementation of Centralized Shared Window System
(a) [25 pts] Explain how a centralized shared window system is implemented. Consider both the case when the application and window system execute in the same process and in separate processes on different computers.  You should give only the architecture and processing of input and output in each of the two cases. You can ignore output queries and window manipulation events such as expose and resize.
(b) [10 pts] Some of you observed that in LiveMeeting, when you move the window of a shared application rapidly, you sometimes see the windows of non shared applications. Hypothesize a reason for this behavior. (Hint: Think of the case when the window system and shared application execute in the same process.)
3. [25 pts] Distributed Centralized MVC
[8 pts] Describe the interaction between a model and its views and controllers, that is, identify the kind of methods invoked by these three objects on each other.
[17 pts]  Consider an application that creates a distributed centralized MVC architecture in which the model interacts directly with its views and controllers, that is, does not use (programmer-defined) intermediaries.  Assume that the application is implemented using Java RMI.
 Identify the various forms of distribution awareness in such an application. Be sure to consider  such awareness in all components of the application including the views, controllers, model, and the code that creates these components and connects them to each other. 
 Identify also the interactive steps that need to be taken by various humans (administrator,  programmer, end- user) that would not be taken in the single-user case.
